
'°1 MA 633 - Theory of partitions - Lee . 38

1- Fz ,
=/imf¥
+→ , z

- 2

= f
'
(1) = effcz ,)

,

⇒ ag)
- e (s § 2-

" qN^#
" =o Egg

-

← 2-4-C-E)• egg,
Czar • C- oh )

⇒4£
. )

-

1in dfi-z-od-ftz-1.org ) + d-dzfzgf-y.q.Y-zahd-t.ba?2-→ 1£¥-4 ]

= -4£
.

I
znqi

""'Ve
- ¥1,{&z? + 21-972 car

,
(g)
•
( -97 ✗ lim d

2- → i DI ((zq¥q)•§This is because of the following :

Note that

§ b¥" =C-aiabzc-b.at#ab;ab7qn=-x
In this

,

let b-- tz , a=§gz,= Zq so that



§ (E)
"

_= ( - zq ;%fE-ialdq.az
A =
- a

⇒ -§ z
"q"I = C- zq; a) • c- -2-11*197

•
.

n = - •

Hence
,
•cat

= one ( § znq"^
" 't )

n=o ¥1m
-¥1

, ⇐ (§→z"q^
"" 'k+§ -5" - '

glint"k)
17--0

(9)
•
c-oh

-

zc-aizcai-e.CC?z:-,dcEI-ar--ae.EZ1
a

- ¥:(E. ^5
' "%

- Icn-mÉ~qn÷i)
Cq)•.fq1•É

-

2C- g)
• ( I + Deal )



= - • ( EEZ I

+ § q
""' " 'k

- scar) - z scan Dead
are

⇐" 4¥
.

I
+

ci-iix-aiqzcgxd-gxo-s.cat - 2s car ☐ egg

⇒seas
=

• • ( EEE ) - a scar ☐ eat

( : 1-
cq ; qz,-

= S (E)
, by Euler's theorem )

.

From
,

LHS of (a)

=

2e( § z
" of

'""K

) + Scar)n=o (¥
+ 2scare (&¥÷)



=-4£. e) + seas
+2Scarf -E - Dial)
=

24£. K

) -25cal Dca)
= da ) ( from )

☒t .



Generalized Frobenius Partitions

Here
,
we study two - rowed arrays of non -negativeintegers

(
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b.bz
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- 2 rows are of the same length
- ai 's are arranged in non - incr . order

,

and so are bi 's . ( 91>92> . - - - - ar 20
bi > bz > - - - - by 20)

The above array is said to be a generalized
Frobenius partition (or simply F- partition)
of n if

r r

n = s + I ai t Ibi
.

i = , i = ,

• Frobenius desired a notation for partitions
which would exhibit immediately the conjugate
of a partition .

What he did was the following ?

Consider a partition
7-17 -15+9+2-12

.
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Frobenius symbol of the above partition
is ( 6 5 20 )5 4 I 0 '

For conjugate , the Frobenius symbol would
be (5 4 10

6 5 20 ) .

The Jacobi triple product identity and the
general principle
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Note that got) can be expanded as a
Laurent series in a nbhd . of 2=0 ; i. e;
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By iteration ,
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